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H10.4] 5.11 [ 5.28 (6. 9[6.25 (7. 7| 7.27 8 9 10 11 12 |H11.1 2 3
t-Butyl - - - - - - nd nd |0.019] nd |0.014|0.073[{0.017( nd nd
t-Pentyl - - - - - - nd nd |0.014] nd nd nd nd nd nd
n-Pentyl - - - - - - 10.011] nd [0.013[ nd nd nd nd nd nd
n-Hexyl - - - - - - 10.021] nd [0.013[ nd nd nd nd nd nd
t-Octyl - - - - - - 10.043] nd [0.019( nd nd ]10.006] nd nd ]0.011
n-Heptyl - - - - - - 10.030( nd nd nd nd nd nd nd nd
NP(avg n=5) | 0.15 |0.086{0.090| 0.13 | 0.16 |0.058] 0.13 [0.063]|0.060| nd nd | 0.12 {0.048]|0.046]0.058
BPA 0.39 |0.063|0.050( nd | 0.17 | nd nd nd nd nd nd nd nd nd nd
NP-1 - - 0.14 [ 0.15]0.073[ 0.12 | 0.076]0.071| nd nd | 0.14 [0.056|0.057]0.063
NP-2 - - - - 0.17 [0.045] 0.14 [0.062)|0.071| nd nd | 0.11 {0.042|0.041]|0.072
NP-3 - - - 0.12 [ 0.14 ]10.052| 0.13 | 0.059]0.051| nd nd | 0.11 {0.040|0.034]0.043
NP-4 - - - - 0.17 [0.059] 0.12 [0.055|0.057| nd nd | 0.13 [0.060]|0.060]0.060
NP-5 - - - 0.13 | 0.19 ]10.060f 0.13 | 0.063]|0.050( nd nd | 0.10 [0.042]0.038]0.053

u g/L

H10.4| 5.11 | 5.28 | 6. 9[6.25| 7. 7| 7.27 8 9 10 11 12 |H11.1| 2 3
t-Butyl - - - - - - |0.021] nd [0.078)0.018]0.019| nd |0.016f nd |0.005
t-Pentyl - - - - - - nd nd nd nd nd nd nd nd nd
n-Pentyl - - - - - - nd nd nd nd nd nd nd nd nd
n-Hexyl - - - - - - nd nd nd nd nd nd nd nd nd
t-Octyl - - - - - - nd |0.005| nd |0.008| nd [0.004( nd nd nd
n-Heptyl - - - - - - nd nd nd nd nd nd nd nd nd
NP(avg n=5) |0.077]0.093[{0.232|0.229( 0.17 |0.040] nd [0.053| nd [0.064)0.046]/0.057/0.043| nd [0.060
BPA 0.000{0.067[0.108)0.044| 0.11 | nd nd nd nd nd nd nd nd nd nd
NP-1 - - - [0.245) 0.18 [0.037| nd |0.063[ nd |0.083|0.046/0.064|0.049( nd |0.058
NP-2 - - - [0.262] 0.19 [0.036] nd |0.050( nd |0.073{0.053|0.060[0.036] nd |0.084
NP-3 - - - [0.171) 0.16 [0.035| nd |0.048[ nd |0.059[0.026/0.041|0.031( nd |0.039
NP-4 - - - [0.269) 0.16 [0.047| nd |0.054[ nd |0.045]/0.069/0.079|0.065[ nd |0.075
NP-5 - - - [0.199) 0.18 [0.044| nd |0.052( nd |0.058]0.036/0.043|0.032( nd |0.043

U g/L

H10.4] 5.11 [ 5.28 (6. 9[6.25 (7. 7| 7.27 8 9 10 11 12 |H11.1 2 3
t-Butyl - - - - - - nd nd |0.027{0.020|0.004{0.024| nd |0.050{ nd
t-Pentyl - - - - - - nd nd ]0.021] nd nd nd nd nd nd
n-Pentyl - - - - - - 10.008] nd [0.018( nd nd nd nd nd nd
n-Hexyl - - - - - - 10.014] nd [0.016( nd nd nd nd nd nd
t-Octyl - - - - - - nd ]0.006]|0.020( nd nd nd nd nd nd
n-Heptyl - - - - - - 10.004] nd [0.008{ nd nd nd nd nd nd
NP(avg n=5) |0.105]/0.084( 0.16 | 0.14 | 0.22 | 0.056] 0.15 [0.055|0.046| nd nd nd nd |0.075[0.042
BPA 0.579(0.105[0.096]0.083|0.250{0.137]0.015| nd nd nd nd nd nd nd nd
NP-1 - - - 0.10 [ 0.20 |0.067f 0.18 | 0.064]0.050( nd nd nd nd |0.078[0.046
NP-2 - - - 0.12 [ 0.25|0.049f 0.14 | 0.057]0.060( nd nd nd nd |0.077[{0.050
NP-3 - - - 0.12 [ 0.19 |10.047( 0.14 | 0.046]0.036( nd nd nd nd |0.059(0.033
NP-4 - - - 0.22 [ 0.23 |10.059f 0.13 | 0.055]0.043[ nd nd nd nd |0.097({0.044
NP-5 - - - 0.13 | 0.24 ]10.059f 0.15 ) 0.052]0.038[ nd nd nd nd |0.062[0.035

u g/L

H10.4| 5.11 | 5.28 | 6. 9[6.25| 7. 7| 7.27 8 9 10 11 12 |H11.1| 2 3
t-Butyl - - - - - - ]0.023]0.031{0.033)0.037]0.045/0.071|0.040{0.039)0.058
t-Pentyl - - - - - - nd nd ]10.012] nd nd nd nd nd nd
n-Pentyl - - - - - - nd nd ]10.008| nd nd nd nd nd nd
n-Hexyl - - - - - - nd nd |0.006] nd nd nd nd nd nd
t-Octyl - - - - - - ]0.007)0.017{0.012|0.006]0.006(0.006|0.005{0.004)|0.004
n-Heptyl - - - - - - nd nd nd nd nd nd nd nd nd
NP(avg n=5) | 0.06 | nd [ 0.15] 0.13 [ 0.14 |0.047]0.058(0.067]|0.057{0.063)0.051|0.054|0.063]|0.060(0.091
BPA 0.39]0.00|0.15(0.10| 1.6 [0.044| nd nd nd nd nd nd [0.070] 0.13 ] 0.22
NP-1 - 0.14 | 0.15 |0.060[{0.069)|0.075]0.061|0.080]|0.061{0.065)0.067{0.066| 0.10
NP-2 - - - 0.15 | 0.14 ]10.028{0.057]0.055[0.071|0.072]|0.050(0.043]0.051{0.041)0.090
NP-3 - - - 0.11 [ 0.12 |0.036[0.052)|0.057[0.046|0.069]|0.039[0.043|0.042{0.047]|0.074
NP-4 - - - 0.14 | 0.14 ]10.058[0.055|0.075[0.058|0.035|0.061{0.073)0.098{0.090| 0.10
NP-5 - - - 0.13 | 0.14 10.054[0.054)|0.070{0.051|0.058]0.046(0.048]0.058{0.055) 0.092

ua/L




H10.4] 5.11 [ 5.28 (6. 9[6.25 (7. 7| 7.27 8 9 10 11 12 |H11.1 2 3
t-Butyl - - - - - - 0.17 ]10.022]0.042{0.035)0.039( 0.11 | 0.009]0.045[0.051
t-Pentyl - - - - - - 10.004]0.013{0.006)0.007|0.007{0.031| nd [0.018]0.007
n-Pentyl - - - - - - nd nd nd nd nd nd nd nd nd
n-Hexyl - - - - - - nd nd nd nd nd nd nd nd nd
t-Octyl - - - - - - |0.036)0.035[0.033|0.041]0.038(0.067]|0.025[0.045)|0.045
n-Heptyl - - - - - - nd nd nd nd nd nd nd nd nd
NP(avg n=5) | 0.29 | 0.81 [ 0.69 | 0.52 | 0.66 | 0.49 | 0.50 [ 0.15) 0.20 | 0.37 | 0.25 ] 0.75[ 0.14 ) 0.51 | 0.34
BPA 0.98 ] 0.61|0.88|0.46]0.45(0.34|0.42| nd nd | 0.23({0.12]0.40[0.31|0.36]0.19
NP-1 0.48 | 0.70 | 0.56 [ 0.55 )| 0.14 | 0.18 | 0.45 ]| 0.24 [ 0.87 ] 0.13 [ 0.64 | 0.33
NP-2 - - - 0.47 | 0.64 ] 0.53 [ 0.54 ) 0.18 | 0.27 | 0.46 | 0.24 [ 0.80 ) 0.14 [ 0.54 | 0.36
NP-3 - - - 0.44 1 0.63]0.41[0.45)0.09|0.12 | 0.33 | 0.18 [ 0.66 | 0.09 | 0.49 | 0.27
NP-4 - - - 0.69 | 0.65]0.54[0.49 ) 0.21 | 0.32| 0.30 | 0.42 [ 0.84 ) 0.23 | 0.43 | 0.46
NP-5 - - - 0.51|0.65]0.400.45) 0.11 | 0.11 | 0.34] 0.15[ 0.59 ] 0.09 [ 0.43 | 0.28

u g/L

H10.4]| 5.11 [ 5.28 [ 6. 9| 6.25 [ 7. 7| 7.27 8 9 10 11 12 |H11.1 2 3
t-Butyl - - - - - - nd nd |0.005{0.030|0.014{0.010f nd |0.034[0.027
t-Pentyl - - - - - - nd nd nd nd nd nd nd nd nd
n-Pentyl - - - - - - nd nd nd nd nd nd nd nd nd
n-Hexyl - - - - - - nd nd nd nd nd nd nd nd nd
t-Octyl - - - - - - nd |0.008{0.008] nd [0.008[0.010| nd [0.009|0.009
n-Heptyl - - - - - - nd nd nd nd nd nd nd nd nd
NP(avg n=5) | 0.13 |0.055( 0.15] 0.11 | 0.25 |0.069| nd nd |0.069| nd nd |0.071| nd | 0.14 |0.066
BPA 0.3710.098]| 0.14 [ 0.13 ] 0.19 {0.051| nd nd nd nd nd |0.060| nd nd nd
NP-1 - 0.10 | 0.24 |0.066[ nd nd |0.065| nd nd |0.076f nd | 0.15]0.073
NP-2 - - - 0.10 | 0.28 |0.054[ nd nd 10.10| nd nd |0.094| nd | 0.15]0.090
NP-3 - - - 0.10 | 0.22 ]10.057[ nd nd |0.040{ nd nd |0.047( nd | 0.12 [0.049
NP-4 - - - 0.12 | 0.26 |0.092[ nd nd |0.093| nd nd |0.078] nd | 0.16 |0.062
NP-5 - - - 0.12 | 0.250.074[ nd nd |0.043| nd nd |0.060f nd | 0.12 |0.056

u g/L

H10.4] 5.11 [ 5.28 (6. 9[6.25 [ 7. 7| 7.27 8 9 10 11 12 |H11.1 2 3
t-Butyl - - - - - - 10.015)0.007{0.032)|0.028]0.027/0.017|0.015(0.043| nd
t-Pentyl - - - - - - nd nd ]0.017]0.022] nd |0.005| nd [0.006( nd
n-Pentyl - - - - - - nd nd ]0.016]0.021| nd nd nd nd nd
n-Hexyl - - - - - - nd nd ]0.012]0.015| nd nd nd nd nd
t-Octyl - - - - - - |0.081)0.068{0.060)0.049]0.043(0.050|0.055[0.053)|0.034
n-Heptyl - - - - - - nd nd [0.018]0.023] nd nd nd nd nd
NP(avg n=5) | 0.18 | 0.23 [ 0.48 | 0.34 [ 0.59 | 0.23 | 0.34 [ 0.27 |1 0.35[ 0.32 | 0.33 | 0.44 [ 0.37 ) 0.48 | 0.34
BPA 0.43]10.19 | 0.25|0.24 ] 0.43 [ 0.13]0.077[0.054/0.046] nd [0.043] 0.13 [0.074] 0.12 |0.050
NP-1 0.33/0.65]0.26 [ 0.37 ) 0.33]|0.37|0.39| 0.37 [ 0.48) 0.40 | 0.51 | 0.37
NP-2 - - - 0.35/0.59 ] 0.22(0.41) 0.26 | 0.40 | 0.32 |1 0.30 [ 0.44 ) 0.37 [ 0.46 | 0.32
NP-3 - - - 0.29 [ 0.55]0.17 [ 0.26 | 0.22 | 0.25 | 0.27 | 0.24 [ 0.33 ] 0.28 | 0.37 | 0.27
NP-4 - - - 0.39/0.52 |1 0.28(0.38) 0.31|0.42|0.28 | 0.46 | 0.58 )| 0.53 | 0.66 | 0.44
NP-5 - - - 0.32/0.62]0.24(0.29 | 0.26 | 0.31 | 0.33] 0.29 ({0.38 ) 0.31 | 0.39 ] 0.31

ua/L




H10.5 6 7 9 11]H11.1 3[H10.5] 6 7 9 11]H11.1 3

t-Butyl - - nd [0.033] nd ]0.024|0.070] - - 10.11/0.15]0.20]0.17]0.18
t-Pentyl - - nd nd nd nd nd - - nd nd nd nd nd
n-Pentyl - - nd nd nd nd nd - - nd nd nd nd nd
n-Hexyl - - nd nd nd nd nd - - nd nd nd nd nd
t-Octyl - - nd nd nd nd nd - - nd nd nd nd nd
n-Heptyl - - nd nd nd nd nd - - nd nd nd nd nd
NP(avg n=5) |0.042| 0.27 | nd nd |[0.35]0.098] nd - 10.15/0.040] nd |0.053]|0.12 |0.049
BPA 0.16 | 0.61 | nd nd [0.042| nd |0.84]| - 13 [ 1.4 | nd |0.15]0.06 |0.053
Np-1 0.052| 0.24 | nd nd [0.300.11 | nd - 10.12/0.037| nd |0.057|0.11 |0.047
Np-2 0.051]|0.27 | nd nd [0.40]0.10| nd - 10.16 |/0.041] nd |0.088|0.11 |0.074
Np-3 0.051]|0.23 | nd nd [0.29]0.052] nd - 10.21/0.028| nd |0.028|0.055/0.026
Np-4 0.000]| 0.28 | nd nd [0.64]0.16 | nd - 10.16/0.051| nd |0.056|0.23 |0.058
Np-5 0.054/ 0.32 | nd nd [0.14 [0.065] nd - [0.10/0.044] nd |0.037[0.087/0.038
u a/L
H10.5| 6 7 9 11 |H11.1| 3 |H10.5| 6 7 9 11 |H11.1| 3
t-Butyl - - nd nd [0.027] nd nd - - nd - nd nd nd
t-Pentyl - - nd nd nd nd nd - - nd - nd nd nd
n-Pentyl - - nd nd nd nd nd - - nd - nd nd nd
n-Hexyl - - nd nd nd nd nd - - nd - nd nd nd
t-Octyl - - nd nd nd nd nd - - nd - nd nd nd
n-Heptyl - - nd nd nd nd nd - - nd - nd nd nd
NP(avg n=5) |0.066| 0.30] nd [0.067| 0.11{0.069/0.064/0.061] 0.28/0.027| - 0.14| 0.11]0.081
BPA 1.50] 1.99/0.049] nd | 0.29] nd | 0.19] 0.72] 1.1] nd - nd nd | 0.17
Np-1 0.060/ 0.29] nd [0.083| 0.12/0.084|/0.078/0.057| 0.27/0.026| - 0.16] 0.12/0.090
Np-2 0.057| 0.26] nd [0.083| 0.13/0.049{0.059/0.058| 0.21/0.037| - 0.16| 0.10] 0.10
Np-3 0.051| 0.29] nd [0.058{0.083/0.050{0.057|0.045| 0.24/0.019| - 0.10/0.081/0.053
Np-4 0.075/ 0.33] nd [0.051| 0.13| 0.11]{0.066/0.077| 0.37/0.028| - 0.19| 0.17/0.099
Np-5 0.089] 0.34] nd [0.058{0.084/0.058{0.060/0.066] 0.29/0.024] - [0.098/0.093/0.064
u a/L
H10.5| 6 7 9 11 |H11.1| 3 |H10.5] 6 7 9 11 |H11.1| 3
t-Butyl - - nd nd nd nd nd - - nd nd nd [0.027]/0.020
t-Pentyl - - nd nd nd nd nd - - nd nd nd nd nd
n-Pentyl - - nd nd nd nd nd - - nd nd nd nd nd
n-Hexyl - - nd nd nd nd nd - - nd nd nd nd nd
t-Octyl - - nd nd nd nd nd - - 10.041/0.040/0.045|0.065|0.045
n-Heptyl - - nd nd nd nd nd - - nd nd |0.045/0.065| nd
NP(avg n=5) |0.054| 0.14] nd |0.045| 0.16| 0.15/0.086f 0.14] - 10.073/0.081{0.026] 0.49] 0.39
BPA 0.58| 0.81] nd nd nd | 0.06/ 0.19] 0.17| - nd nd [0.045| 0.44/0.056
Np-1 0.050{ 0.14] nd [0.045| 0.20] 0.16{0.090] 0.12] - 0.054/0.049/0.034] 0.29| 0.31
Np-2 0.047| 0.14] nd [0.060{ 0.17| 0.13| 0.11] 0.18] - 0.12] 0.12/0.032| 0.58| 0.44
Np-3 0.049| 0.12| nd [0.045| 0.16] 0.10{0.064/0.083] - 0.039/0.040/0.020] 0.26] 0.29
Np-4 0.062| 0.13] nd [0.044| 0.15| 0.23| 0.10] 0.24| - 0.12| 0.16]/0.025] 1.1] 0.66
Np-5 0.061| 0.17] nd [0.032] 0.14] 0.12{0.072]0.088] - [0.036/0.028/0.019] 0.16] 0.24
u a/L
H10.5| 6 7 9 11 |H11.1| 3 |H10.5| 6 7 9 11 |H11.1| 3
t-Butyl - - nd nd [0.048] nd |0.050] - - nd [0.053/0.034/0.062| 0.11
t-Pentyl - - nd nd nd nd nd - - nd nd nd nd nd
n-Pentyl - - nd nd nd nd nd - - nd nd nd nd nd
n-Hexyl - - nd nd nd nd nd - - nd nd nd nd nd
t-Octyl - - 10.025/0.021] nd [0.049|0.046] - - nd nd nd nd nd
n-Heptyl - - nd nd nd [0.049] nd - - nd nd nd nd nd
NP(avg n=5) | 0.15| 0.56/0.059| 0.11| 0.22| 0.20] 0.53] - 0.46/0.082] 1.95| 0.09] 0.16] 0.22
BPA 0.24| 0.72/0.055| nd | 0.11{0.061| 0.63] - 1.69] 0.56] 0.22| 0.57| 2.31| 4.45
Np-1 0.18| 0.59/0.063|0.093| 0.25| 0.21| 0.54f - 0.44|0.088| 2.65| 0.10] 0.15| 0.24
Np-2 0.18| 0.55/0.064| 0.15] 0.24| 0.22| 0.61| - 0.51/0.084| 1.92| 0.10] 0.14]| 0.22
Np-3 0.11] 0.60/0.043|0.065| 0.16] 0.15| 0.38] - 0.48]0.072| 2.21|0.074| 0.12| 0.21
Np-4 0.19| 0.50/0.077| 0.16] 0.30[ 0.26] 0.71f - 0.45/0.088| 1.14| 0.10] 0.25| 0.24
Np-5 0.11] 0.56/0.049/0.058] 0.17[ 0.17] 0.41f - 0.44/0.078] 1.84/0.074] 0.13] 0.18

M g/L



H10.5 7 9 11 9 H11.1| 3
t-Butyl - nd |[0.083] 0.16 0.052 0.11] 0.37
t-Pentyl - nd |0.025| 0.13 nd 0.029| nd
n-Pentyl - nd nd nd nd nd nd
n-Hexyl - nd nd nd nd nd nd
t-Octyl - nd nd nd nd nd [0.021
n-Heptyl - nd nd nd nd nd nd
NP(avg n=5) - 0.60/0.084| 2.16| 3.72 0.29 1.2 0.29
BPA - 1.44| 0.42| 0.26] 0.56 0.25 0.97] 1.1
Np-1 - 0.60/0.090| 2.87| 5.27 0.35 1.6/ 0.36
Np-2 - 0.63/0.098]| 2.40| 3.96 0.30 1.4 0.27
Np-3 - 0.59|0.073] 2.43]| 3.93 0.28 1.3] 0.27
Np-4 - 0.55/0.085| 1.10] 2.07 0.25 0.81] 0.29
Np-5 - 0.62/0.076] 2.01] 3.39 0.30 1.1] 0.27
u a/L
H10.5 7 9 11 9 H11.1| 3
t-Butyl - 0.047[0.048|0.057 0.039 0.13] 0.18
t-Pentyl - nd nd nd nd 0.04] nd
n-Pentyl - nd nd nd nd nd nd
n-Hexyl - nd nd nd nd nd nd
t-Octyl - nd nd nd nd 0.04| 0.04
n-Heptyl - nd nd nd nd 0.04| nd
NP(avg n=5) - 0.35/0.079] 0.21] 0.35 0.64 0.70| 0.44
BPA - 0.53] nd [0.071] 0.12 0.12 0.36| 0.88
Np-1 - 0.28/0.083] 0.26| 0.38 0.84 0.86| 0.43
Np-2 - 0.34/0.068] 0.18] 0.31 0.66 0.78| 0.70
Np-3 - 0.33/0.057] 0.19] 0.30 0.60 0.64| 0.33
Np-4 - 0.38| 0.12] 0.20] 0.48 0.52 0.63| 0.38
Np-5 - 0.41/0.068] 0.23] 0.30 0.56 0.61] 0.36
u a/L
H10.5 7 9 11 9 H11.1| 3
t-Butyl - nd nd |0.058 0.13 0.21] 0.12
t-Pentyl - nd nd nd nd nd nd
n-Pentyl - nd nd nd nd nd nd
n-Hexyl - nd nd nd nd nd nd
t-Octyl - 0.024] nd |0.026 nd nd nd
n-Heptyl - nd nd nd nd nd nd
NP(avg n=5) [0.098 0.13] 0.12] 0.42 nd 0.16| 0.42
BPA 0.22 nd nd | 0.16 nd 1.3 0.93
Np-1 0.097 0.15| 0.14] 0.42 nd 0.17] 0.44
Np-2 0.093 0.14| 0.13] 0.37 nd 0.15| 0.40
Np-3 0.070 0.11/0.084| 0.29 nd 0.11] 0.38
Np-4 0.13 0.16] 0.18] 0.73 nd 0.25| 0.48
Np-5 0.094 0.11/0.089] 0.28 nd 0.12] 0.43

M g/L



%6 AB7ANEBEROOFZILFILI I/ —IVBE

8 3 Ji | 7)1 YRR ||
LN OV CEiEsr: LA Y AT —HiR
H10. 7]H10. 11j{H11. 2]H10. 110H10. 7} H10. 11 |H11. 2JH10. 7|H10. 11}jH11. 2{ H10. 11 JH11. 2
t-Butyl 0.00029] nd nd nd nd nd nd }0.00036f nd nd nd nd
t—Pentyl nd nd nd nd nd nd nd }0.00011] nd nd nd nd
n-Pentyl nd nd nd nd nd nd nd nd nd nd nd nd
tn—Hexyl nd nd nd nd nd nd nd nd nd nd nd nd
t—-Octyl §0. 00081}0. 00029 0. 0019 nd nd ]0.000087 |0.0012 §0.0020]0.0030} 0.021 [ 0.0012 |0.0051
In-Heptyl nd nd nd nd nd nd nd nd nd nd nd nd
INP (avg n=5) J0.022 |0.0053] 0.049 |0.0013 nd 0.0070 |0.046 | 0.082 | 0.088 | 0.36 0. 080 0. 68
INP—I 0.025 ]10.0061] 0.061 |0.0008 nd 0.0067 |0.044 | 0.087 | 0.089 | 0.40 0. 090 0.75
INP—Z 0.023 ]10.0056] 0.049 |0.0010 nd 0.0065 |0.048 | 0.082 | 0.088 | 0.34 0.075 0. 60
INP—3 0.029 ]0.0065] 0.045 ] 0.0010 nd 0.0041 |0.029 | 0.063 | 0.060 | 0.30 0.079 0.59
INP-4 0.013 |0.0041] 0.045 |0.0033] nd 0.012 |0.084 J 0.102 ]| 0.13 | 0.42 | 0.074 | 0.75
INP-5 0.019 |0.0044] 0.045 |0.0006] nd 0.0054 ]0.027 ] 0.075 ] 0.077 | 0.33 | 0.082 | 0.70
KR (%) 18 25 54 22 21 44 45 55 45 84 29 48
SRARE (%) 29 | 7.4 | 1.2 1.8 | 3.4 2.2 | 7.6 2.8 5.7
i HFE 5 NP 0. 00090-0. 0013 0. 00068-0. 0012 0. 00096-0. 0019
etc 0. 000090-0. 00013 0.000068-0. 00012 0. 000096-0. 00019
GO pg/e dry)
=)l KIHD)I
I E T SN *EOE_Th SRS B T
JH10. 7jH11. 2JH10.11JH11. 2§H10. 7] H10.11 JH11. 2|H10. 7JH10. 11JH11. 2| H10.11 JH11. 2§
t—-Butyl nd ]0.00034 nd 0.00013 nd 0.00019]1 0. 0017 nd 0. 000890. 00060[0. 00092 nd
t—Pentyl nd nd nd nd nd 0. 00026 nd nd 0. 0011 ]0. 00028]0. 00064 nd
n-Pentyl nd nd nd nd nd nd nd nd nd nd nd nd
tn—ﬂexyl nd ]0.00011} nd ]0.00013 nd nd nd nd nd nd nd nd
t-Octyl §0. 00010 0. 0021 ]0. 0023 | 0.0014f 0.25 | 0.055 | 0.060 | 0.016 | 0.070 | 0.030 | 0.052 | 0.015
n-Heptyl nd ]0.00034 nd ]0.00014 nd nd nd nd nd nd nd nd
NP (avg n=5) §0.0049] 0.065 | 0.087 | 0.032 2.3 0.43 0. 56 0.18 0.61 0.43 0. 64 0. 42
NP-1 0.0051] 0.076 ] 0.112 | 0.042 2.7 0.48 0. 65 0.19 0. 64 0. 50 0.77 0. 50
NP-2 0.0051] 0.057 ] 0.086 | 0.030 2.2 0.41 0. 51 0.19 0. 67 0.42 0.63 0.41
NP-3 0.0043] 0.048 ] 0.092 | 0.028 1.9 0.41 0. 53 0.12 0.51 0. 36 0. 65 0. 37
NP-4 0.0057] 0.075 ] 0.066 | 0.032 2.3 0.42 0. 55 0.23 0.71 0.49 0. 60 0.45
INP-5 0.0045] 0.067 | 0.081 | 0.027 2.2 0.44 0. 55 0.17 0. 50 0. 36 0. 57 0. 36
KR (%) 23 70 37 49 74 28 38 31 59 55 52 47
FREAE A (%) 5.0 3.8 5.3 1.8 3.3 6. 2 8.5 5.5 4.7
2 HFR S NP 0. 00057-0. 0020 0. 00069-0. 0058
etc 0. 000057-0. 00020 0. 000069-0. 00058
(B{7  pg/g. dry)
BRI BTN
54 AR AV f AN 3 i)
JH10. 7]|H10. 11}JH11. 2|H10. 7|H10. 11§ H10. 7 |H10.11|H11. 2|H10. 11jH11. 2
t-Butyl fo.00070] nd nd nd nd nd nd nd nd nd
t—Pentyl nd nd nd nd ]0.00012 nd 0.00034, nd [0.00015 nd
n—-Pentyl nd nd nd nd nd nd nd nd nd nd
tn—Hexyl nd nd nd nd nd nd nd nd nd nd
t-Octyl §0. 0001840. 00072 0. 0020 ] 0. 0024 ]0. 00064 0. 11 0.14 | 0.032 ] 0.031 ] 0.020
n-Heptyl nd nd nd nd nd nd nd nd nd nd
NP (avg n=5) J0.0048] 0.020 | 0.034 | 0.049 | 0.014 8.5 2.6 1.2 0. 65 0. 62
NP-1 0.0052] 0.022 ] 0.043 ] 0.059 | 0.014 10. 3 3.2 1.4 0.79 0.74
NP-2 0.0050] 0.019 ] 0.028 | 0.044 | 0.015 7.8 2.6 1.0 0.61 | 0.58
NP-3 0.0041] 0.017 ] 0.023 | 0.048 | 0.014 7.7 2.5 0.91 | 0.64 | 0.55
NP-4 0.0054] 0.024 | 0.040 ] 0.037 | 0.017 8.2 2.2 1.3 0.57 | 0.63
NP-5 0.0041]1 0.019] 0.034 ] 0.055] 0.012 8.5 2.5 1.1 0. 63 0. 62
KR (%) 31 32 31 37 53 66 71 55 34 72
FREE I (%) 2.1 4.6 | 6.0 13 11 2.6 15
j HFR 5 NP 0.00073-0. 0013 0.00083-0. 011
etc 0. 000073-0. 00013 0. 000083-0. 0011

(WAL ug/g. dry)



Mg/l

M S/cm

1,2

13 p g/L

5,6,7

t-Octyl

1.6

2,000

t-Octyl

t-Octyl

1,2,3

n-Heptyl,n-Hexyl,
n-Pentyl t-Octyl,
t-Pentyl, t-Butyl
t-Butyl, t-Pentyl,
t-Octyl

n-Heptyl ,n-Hexyl ,n-Pentyl

1,2 n-Heptyl SS
SS SS
x 100
n-Heptyl
n-Heptyl
10
t-Octyl SS

SS
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KK A
140 120
—4—t-Butyl
120 100
—A— t—Pentyl
100
- e 80 —&—n—Pentyl
£ 80 R =
ﬁ ﬁ 60 —6—n-Hexyl
& 60 P
40 —il— n—Hepty]
40
—@—t—Octyl
20
20 —e=— NP
0 0
0 10 20 30 0 10 20 30 [T¥—BPA
@Ak B) F@EBa¥( A)
B8 —1 ZEFKPOHEHDR B8 —2 kP DsARR
K
10 %7 SREBER DYRELEEY
120 T TR LG DL K
106 el (e | | Ca
t-Butyl 4.3 no 11 23
80 t-Pentyl 49 no 10 31
n-Pentyl 5.1 14 0.6 0.6
60 n-Hexyl 4.5 7.0 0.7 0.6
t-Octyl 4.6 no 9.2 7.0
40 n-Heptyl 4.4 5.0 0.6 1.2
NP 6.6 no 6.5 3.6
20 BPA 7.4 no 1.7 8.6
NP 13 - - 4.7
0 BP A 15 - - 4.7
0 10 20 30 R = ; P
B H) no : GERBRPIZIZE AL DL 2o T=b D
B8 —3 wmKPDHAEHR
120
100 K, SSHOEAFR
100
80 A, SSHORERE
Z2 KPEFETER _ 80
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Rl &60
DT &
40
0 1 1 0 .
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B9—1 NP®DOK, SSHDFEERZEIL B9 —2 n-HeptyldkK, SSHOHFERZLTIL



SS/(SS+Water)x 100)

SS(mg/L) 2 7 12 34 28

t-Butyl 0.0 0.0 0.0 0.2 0.0

t-Pentyl 0.0 0.0 0.0 0.2 0.1

n-Pentyl 0.0 0.0 0.2 0.5 0.4

n-Hexyl 0.3 0.2 0.7 1.6 1.9

t-Octyl 0.8 1.0 1.9 3.2 4.2

n-Heptyl 1.0 1.0 3.2 6.3 8.2

NP(avg n=5) 2.7 3.0 7.9 13 16

BPA 0.1 0.1 0.2 0.3 0.7

NP-1 3.0 3.4 8.6 14 18

NP-2 3.0 3.2 7.9 14 16

NP-3 2.6 3.1 8.3 13 17

NP-4 2.6 2.4 6.9 12 14

NP-5 2.6 2.9 8.3 14 18

20
40
t-Octyl
(SS)
SS)
Water SS Water SS

SS(mg/L) 20 20 2 3 13 16 4
t-Butyl 0.18 nd - 0.012 nd - nd nd nd nd nd
t-Pentyl 0.081 nd - nd nd - nd nd nd nd nd
n-Pentyl nd nd - nd nd - nd nd nd nd nd
n-Hexyl nd nd - nd nd - nd nd nd nd nd
t-Octyl 0.018 | 0.006 24 0.036 | 0.004 10 nd nd nd nd nd
n-Heptyl nd nd - nd nd - nd nd nd nd nd
NP(avg n=5) | 0.86 0.18 17 0.31 0.13 30 nd nd nd nd nd
BPA 0.07 nd - nd nd - nd nd nd nd nd
NP-1 1.1 0.24 18 0.36 | 0.17 32 nd nd nd nd nd
NP-2 1.0 0.19 16 0.31 | 0.11 27 nd nd nd nd nd
NP-3 0.79 | 0.18 18 0.23 | 0.11 33 nd nd nd nd nd
NP-4 0.65 | 0.13 17 0.38 | 0.14 27 nd nd nd nd nd
NP-5 0.75 | 0.16 18 0.29 | 0.13 30 nd nd nd nd nd

Water p g/L SS p g/SS(L)
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